MTH30

Review sheet for Midterm 3
Professor Luis Fernandez

NOTE: Solutions available upon request. If you want the solution, please write me an email and I will
send it to you. But only look at the solution after you have done the exercises.

1. Draw the following angles in standard position in the circles provided.
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2. Write, in the space provided, the value IN RADIANS of the angles given in the following pictures.

(a) (b) () (d)

3. Find an angle (in degrees) between 0° and 360° that is coterminal with the following angles:

(a) 425° (b) 1225° (c) —560°

4. Find an angle (in radians) between 0 and 27 that is coterminal with the following angles:

117 197 —97
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. Find the reference angle of the following angles (in degrees).

(a) 115° (b) 267° (c) 333° (d) —100°

. Find the reference angle of the following angles (in radians).

n 5r 2r 5
(a) o 4 3 6

. Convert from radians to degrees.

(a) — () (© 5 (@) =~

. Convert from degrees to radians.

(a) 150° (b) 240° (c) 315° (d) —150°
. 4 . .
. Given that cosa = — and that « is in Quadrant II, find the exact value of sin «, tan «;, sec a, csc«,
cot a.
. 2 . .
. Given that tana = ——, and that « is in Quadrant IV, find the exact value of sin «, cosa, seca, csca,
cot a.
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11. Fill in the angles, in radians, inside the boxes. Then fill in the coordinates of the points marked in the
circle. And remember that the sine of an angle is the y coordinate, and the cosine is the x coordinate.

12. For the following sinusoidal functions, find the amplitude, the period, and the phase shift.
For (a) and (c), graph a full period of the function.

() f(x) = 25in (:m - 37”) (b) £(x) = ~6sin (42— 7

(c) f(z) = gcos (271'1: — g) (d) f(z) =4sin (395 + ?ZTW)
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13. The following are the graphs of functions of the form f(x) = Asin(Bz — C), with A > 0. Find the
amplitude, the period, and the phase shift. Then use this information to find the values of A, B and C
(recall that A will be equal to the amplitude, that the period is 27r/B, and that the phase shift equals
B/C).

(a) (b)

14. Prove the following trigonometric identities.

(a) cos T — (3053 T = COSXT Sin2 x (b) COST (tan:c — SecC x) = SiIlZC —1
(c) sec?z(1 — cos?z) = tan®z (d) sinz (cotz + cscx) = cosz + 1
(e) cos?z(1 +tan’x) =1 (f) sinz tanx = secx — cosx.
(g) secx — cosx = tanz sinz. (h) secx cscx = tanz + cot x.

.. COST secw ) COST secw

(i) ————— =tanz () tanx = —

cotx cotx
15. Solve the following equations, for = in the interval 0 < z < 27.

(a) 3sinx — 1 =sinx (b) 3cosz+1=cosz (c) 3sinz +1=sinx
(d) 3sinz 4 /3 =sinx (e) 3cosx —1 =cosx (f) (tanz)? =3
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